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ENGLISH VERSION

Instructions : (1) All questions carry equal marks.
(2) Answer all the questions on the basis of internal
option.

(3) Use of simple calculator is allowed.

1 What i1s Matrix ? Discuss different types of Matrix with 14
example.
OR
1 Explain the rules of differentiation and describe the 14

application of differentiation in economics.

2 What is Mean ? Explain the merits and demerits of 14
Mean.
OR
2 Give the meaning of Median. Explain the merits and 14

demerits of Median.

3 Give the meaning of dispersion. Explain the measures of 14
dispersion in detail.
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Solve the following equations by using Cramer’s rules.
1) 3x+y=7 (2) 3x+6y=060
x+2y=4 S5x+4y =52

Give the meaning of frequency distribution and discuss
about the cumulative frequency.

OR
Find out the mean, median and mode for the data
given below.
X012 13[4 ]|5][6]7]8
Y |516|18(22]24 |14

Write short note on any two from following :
(1) Characteristics of Ideal Average

(2) Mode

(3) Determinants

(4) Application of maxima-minima in economics.
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